Instrukeja montazu oslony silnika dla / Engine guard installation instruction for \
BMW R 1 2 4.1 2 Ostona powinna by¢ zaktadana tylko przez osobe wykwalifikowang. Nalezy zwrdcic szczegdlng
uwage na wigzki elektryczne, przewody hamulcowe oraz inne elementy silnika tak, aby nie byty

przycisniete lub nie tarty podczas eksploatacji z powodu Zle przeprowadzonego montazu.

1. Zdemontowac fabryczng ostone silnika.
2. Usung¢ przednie mocowania ostony fabrycznej pozostawiajac jedynie 2 wibroizolatory w tylnej

czesci (Rys. 1 pkt. 5).
W sktad zestawu wchodzi: 3. Zainstalowa¢ wspornik przedni (Rys. 1 pkt. 2) mocujac go do pustego poziomego otworu
1. Ostona silnika. technologicznego w przedniej czesci bloku silnika za pomoca $ruby M10x100 mm z zestawu
(Rys. 1 pkt. 3).
3. ruba M10x100 mm z podktadkami i nakretka 4. Zna;l(()f;i :I;}io;lez :; El2 wssu(l;g;slft;r;krtr'l(;;owa}y fabryczna ostone w tylnej czesci i przykrecic¢
4. 2 Sruby imbusowe M8x20 mm z podktadkami. 5. Przykreci¢ w przedniej cze$ci ostone 2 Srubami M8x20 mm z zestawu do wspornika przedniego
5. 2 nakretki M8. zainstalowanego w kroku 2 (Rys. 2 pkt. 4).
6. Dokreci¢ wszystkie Sruby i nakretki.

& ®

Engine guard should be installed only by a qualified person. Pay particular attention to the

2. Wspornik przedni.

The set includes:
1. Engine guard.

2. Front support. electric beams, brake hoses and other engine parts, so that they are not pinched or they doesn't
3. M10x100 mm bolt with washers and nut. chafe during operation due to wrong installation of the engine guard.

4. 2 socket head bolts M8x20 mm with washers. LR . _

5.2 M8 nuts. . Remove factory engine cover.

2. Remove parts holding factory engine cover in front part, leave on the motorcycle only 2 shock
absorbers in the rear engine part (Fig. 1 pt. 5).

3. Install front support (Fig. 1 pt. 2) fixing them to the horizontal empty technological hole in
front part of the engine block using M10x100 mm bolt from the set (Fig. 1 pt. 3).

4. Install the engine guard on 2 bolts, which fixed the factory engine cover in the rear part and
tighten it slightly by nuts from the installation kit (Fig. 2 pt. 5).

5. Screw the engine guard in front to the front support installed in step 2 using 2 bolts M8x20
mm from the set (Fig. 2 pt. 4).

Q.Tighten all the bolts and nuts. /

NneksiJ

www.heed.com.pl



Instrukcja montaZu ostony silnika dla / Engine guard installation instruction for

BMW R 1200 GS (04-12)

HEED

www.heed.com.pl




